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RealOl Answers for No.9844

Ansl =[a=-1,b=-1,c=1]

.1=[p(x)+q(x)=4x2+5x—3] 2=[p(x)—q(x)=—2x"—5x—75]
Ans2 = 3=[q(x)-p(x)=2x"+5x+5] 4=[mp(x)-ng(x)=-9x"—20x - 16]
S=[p(x)qx)=3x"+5x" - 112" -20x - 4] 6=[[p(x)]=x"-8x"+16]

Ans3=[p(x)q(x)=x-8x*+20x = 19x* + 12 x - 12]
Ansd=[a+b=-T,ab=-8], , AnsS5=[a=5,b=7,ab=35]
Ans6=[P(x)=x"=5x+2x"-8x—-7]

I:[Q(x):2x4+x2+3x+2} 2:[ Q(x):2x2+1 }
' R(x)=-3 “TIR(x) =32 +2x-3
Ans7 = _3:[ Q(x)=x } '4:[Q(x)=x3+6x2+21x+63}
R(x)=6x-5 R(x) = 186
5:[Q(x)=3x3—9)1 6:[Q(X)=x3+6}
L R(x)=27x-2 ' R(x)=16 |
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RealO0l Answers for No.9872

Ansl =[a=3,b=0,c=1]

.1=[p(x)+q(x)=4x2+5x—3] .2=[p(x)—q(x)=—2x2—5x+l]
Ans2 = 3=[q(x)-p(x)=2x"+5x—1] 4=[mp(x)—nq(x)=-7x" —15x+4]
S=[p(x)qx)=3x"+5x=5x"-5x+2] G6=[[p(x)P=x"-2x"+1]

Ans3=[p(x)q(x)=x"+7x" +6x —=30x" — 18 x + 36]
Ansd=[a+b=14,ab=48], , AnsS=[a=3,b=7,ab=21]
Ans6=[P(x)=x4+x3—2x2+4x+7]

]:[Q(x):3x3+2x2+4x+2} ZZ{Q(x):3x2+2x+4}
' R(x)=x-2 . R(x)=2x"+x-2
Ans7 = _3:[ Q(x)=x } .4:[Q(x)=x3+5x2+llx+32}
R(x)=4x-2 R(x)=99
5:[Q(x)=4x3+8x} 6:[Q(x)=x3+6}
L R(x)=16x+3 ' R(x)=7 i
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Real0l Answers for No.9873

Ansl =[a=-4,b=4,c=2]

.1=[p(x)+q(x)=5x2+3x—2] .2=[p(x)—q(x)=—3x2—3x+4]
Ans2 = 3=[q(x)-p(x)=3x"+3x—4] 4=[mp(x)-nq(x)=-10x* =9 x+ 11]
S=[p(x)qx)=4x"+3x +x* +3x-3] G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x)q(x)=x"—4x +8x' = 16X’ + 13x* + 12 x - 12]
Ansd=[a+b=-9,ab=14], , AnsS=[a=-7,b=2,ab=-14]
Ans6=[P(x)=x4—x3—6x2+8x+7]

_1_[Q(x)=4x4—x3—2x2+x+1} 2_[ Q(x)=4x-1 }
T R(x)=-4 o R(x):—2x3+x2+x—4
_ _ Q(X)=x} _[Q(x):x3+4x2+8x+13}
An7= . ‘[Rm —2x-1 4= R(x) =24
5_[Q(X)=4x3—4x} 6_[Q(x)=x3+4}
i L R(x)=4x+5 7L R(x)=11
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RealOl Answers for No.9884

Ansl =[a=-2,b=3,c=3]

.1=[p(x)+q(x)=5x2—3x+9] .2=[p(x)—q(x)=—3x2+3x— 1]
Ans2 = 3=[q(x)—p(x)=3x"=3x+1] 4=[mp(x)—nq(x)=—Tx" +9x+5]
S=[p(x)qx)=4x" =32 +21x°— 12x+20] 6=[[p(x)=x"+8x+16]

Ans3=[p(x) q(x)=x"+9x* + 16 x — 18 x> + 8 x — 8]
Ansd=[a+b=-T,ab=6], , AnsS5=[a=-7,b=3,ab=-21]
Ans6=[P(x)=x"+3x =5x" = 10x +4]

]:[Q(x)=3x4+3x2+2x—1} 2:{ Qx)=3x"+3 }
' R(x)=-4 . R(x)=2x"-x—4
Ans7 = ,3:[ Q(x)=x } .4:[Q(X)=X3—x2+6x—l9}
R(x)=-3x+6 R(x) =58
5:{Q(X)=2x3+2)1 6:[Q(x)=x3+7}
L R(x)=2x-3 ' R(x)=17 |
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RealOl Answers for No.9885

Ansl =[a=2,b=2,c=0]

d=[p(x)+q(x)=3x"=2x+3] 2=[p(x)-q(x)=—x"+2x+1]
Ans2 = 3=[q(x)-p(x)=x"-2x-1] 4=[mp(x)-nq(x)=-2x"+6x+5]
S=[p(x)q(x)=2x"-2x +5x" —4x+2] 6=[[p(x)=x"+4x"+4]

Ans3=[p(x) q(x)=x’ =5+ 12X +4x" — 12 x - 24]
Ansd=[a+b=-3,ab=-18], , AnsS=[a=-3,b=2,ab=-6]
Ans6=[P(x)=x"—=x=3x>+6x+2]

_1_|:Q(x):2x4_4x3_x2+3x} 2_|: Q(X):2X—4 }
T R(x)=-3 o R(x):—x3+3x2—3
_ | Q) =x } _[Qm:xtzxugx_zﬂ
Aans7 = '3_[R(x)=—4x—6 4= R(x) =76
5_[Q(x)=3x3+3x} 6_[Q(X)=x3+2}
i L R(x)=3x-2 7L R(x)=-3 ]
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Real0l Answers for No.9895

X

[Page = 0006]

Ansl =[a=1,b=-3,c=-3]
.1=[p(x)+q(x)=4x2—2x—5] .2=[p(x)—q(x)=—2x2+2x—3]
3=[q(x)-p(x)=2x"-2x+3] 4=[mp(x)-nq(x)=-12x>+10x-7]

S=[p(x)q(x)=3x"-2x"-13x>+8x+4] 6=[[p(x)=x"-8x"+16]
Ans3 =[p(x) q(x):x6—5x5+3x4—6x3+25x2+7x— 15]
Ansd=[a+b=-10,ab=9], , AnsS5=[a=-3,b=1,ab=-3]
Ans6=[P(x)=x"+6x —4x*=19x+3]

Ans2 =

_']:[Q(x):5x4+4x3—3x2} ,QZ[Q(X)=5XZ+4x—3}_
R(x)=0 R(x)=0
_ | Qx)=x B Q(x):x3—x2+2x—l}
Ans7 = '3_[R(x)=—5x+2} '4_[ R(x)=-1
5:[Q(X)=4x3+8x} _6:[Q(X)=x3+4}
L R(x)=16x+5 R(x)=2 i
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Real0l Answers for No.9898

Ansl=[a=4,b=-3,c=-4]

.1=[p(x)+q(x)=5x2—3x+l] .2=[p(x)—q(x)=—3x2+3x+9]
Ans2 = 3=[q(x)-p(x)=3x"-3x-9] 4=[mp(x)-nq(x)=—18x"+ 15x+30]
S=[p(x)qx)=4x"-3x"+16x"— 15x-20] 6=[[p(x) P =x"+10x"+25]
Ans3=[p(x)q(x)=x-8x'+ 11X +15x* = 15x - 12]
Ansd=[a+b=-1,ab=-12], , AnsS=[a=6,b=4,ab=24]

Ans6=[P(x)=x4—4x3+7x2—23x+2]

_1_{Q(x):x4+x3—3x2+4} 2_[Q(x):x2+x—3} ]
T R(x)=-2 T L R(x)=4x-2
_ | Q)=x _Q(x):x3+2x2—6x+20}
Aans7 = '3_[R(x)=—7x+7} '4_[ R(x)=-65
5_[Q(X)=3x3—691 6_[Q(x)=x3+3}
L "LR(x)=12x-2 7L R(x)=-8 |
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RealO0l Answers for No.9899

Ansl =[a=3,b=-2,c=-3]

d=[p(x)+q(x)=3x"-3x—-3] .2=[p(x)—q(x)=—x2+3x—5]
Ans2 = 3=[q(x)—p(x)=x"-3x+5] 4=[mp(x)—nq(x)=-2x"+9x—19]
S=[p(x)qx)=2x"-3x" -7 +12x-4] 6=[[p(x)] =x"-8x"+16]

Ans3=[p(x)q(x)=x"-3x"=22x = 10x" = 12 x— 8]
Ansd=[a+b=1,ab=-12], , AnsS5=[a=-6,b=5,ab=-30]
Ans6=[P(x)=x"+5x -3x" - 11x—-7]

_]_[Q(x)=3x3+4x2+4x+1} 2_[ Q(x)=3x+4 }
o R(x)=4x+3 o R(x):4x3+x2+4x+3
_ _ Q(x)=x} _[Q(x)=x3+8x2+20x+57}
Ans7 = '3_[R(x)= 7y 45 4= R(x) = 176
5_[Q(x)=4x3—12x} 6_[Q(X)=x3+7}
i L R(x)=36x+3 7L R(x)=10 ]
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Real0l Answers for No.9920

Ansl =[a=1,b=4,c=-2]
.]=[p(x)+q(x)=4x2—5x] .2=[p(x)—q(x)=—2x2+5x+4]
3=[q(x)-p(x)=2x"-5x—4] 4=[mp(x)-nq(x)=-3x"+10x+10]
S=[p(x)q(x)=3x"-5x+4x" - 10x—4] 6=[[p(x)P=x"+4x"+4]
Ans3=[p(x) q(x)=x"-39x +13 x> =30 x + 15]
Ansd=[a+b=T,ab=-8], , AnsS=[a=-1,b=5,ab=-5]

Ans2 =

X

Ans7 =

[Page = 0009]

Ans6=[P(x)=x"—7x +6x*—40x+7]

.I:[Q(x):x3+3x2+4}

R(x)=0
3:[ Q(x) =x }
' R(x)=—4x+7

5_[Q(x)=4x3+12x}
L R(x)=36x+5

2:[Q(x)=x2+3x} |

R(x)= 4 x*

4:[Q(x)=x3—x2—3}

R(x)=10

6:{Q(x)=x3+7}

R(x)=2
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RealOl Answers for No.10000

Ansl =[a=1,b=2,c=-2]

.1=[p(x)+q(x)=4x2+4x+5] .2=[p(x)—q(x)=—2x2—4x— 1]
Ans2 = .3=[q(x)—p(x):2x2+4x+l] .4:[mp(x)—nq(x):—l3x2—20x_]]]
S=[p(x)q(x)=3x" +4x+9x +8x+6] 6=[[p(x)] =x"+4x"+4]

Ans3 =[p(x)q(x)=x"=5x =3x"+25x =16 x> +30 x — 12]
Ansd=[a+b=-8,ab=12], , AnsS5=[a=-2,b=5,ab=-10]
Ans6=[P(x)=x"—7x =3 x"+26x—3]

_1_[Q(x):2x3—3x2+2x+4} 2_[ Q(x)=2x-3 }
T R(x)=-2 o R(x):2x3+4x2—2
_ _ Q(X)=x} _[Q(x):x3—x2+6x—9}
Ans7 = '3_[R(x)=3x—2 4= R(x)= 16
5_[Q(x):4x3+8x} 6_[Q(x):x3+3}
L " LR(x)=16x+5 7L R(x)=-9 |
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X

RealOl Answers for No.10017

.]=[p(x)+q(x)=5x2+x—3]
3=[q(x)-p(x)=3x"+x—-1]
S=[p(x) q(x)=4x4+x3—6x2—x+2]

Ans2 =

Ansl =[a=1,b=5,c=-3]
.2=[p(x)—q(x)=—3x2—x+ 1]
4=[mp(x)-nq(x)=-Tx"=3x+1]
H=[[p(x)P=x"-2x"+1]

Ans3=[p(x)q(x)=x"+10x*+19x° = 14x* + 36 x — 30]

Ans4d =[a+b=-13,ab=42],

N

Ans7 =

[Page 0011]

3:[ Q(x)=x } 4:{Q(x):x3+2x2—x+3}

’ R(x)=x+4 ’ R(x)=-5

5:[Q(x)=2x3—2x} 6:[Q(x)=x3+4}
R(x)=2x+3 R(x)=-7 ]

, AnsS=[a=-4,b=1,ab=-4]
Ans6=[P(x)=x"+2x +6x" +16x-7]

Q(x)=x3+4x2—2x+1} {Q(x):x2+4x—2} |
R(x)=-3x-2 R(x)=x2—3x—2
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RealOl Answers for No.10057

Ansl =[a=-2,b=-3,c=1]

.1=[p(x)+q(x)=4x2+2x+l] .2=[p(x)—q(x)=—2x2—2x+5]
Ans2 = 3=[q(x)-p(x)=2x"+2x-5] 4=[mp(x)-nq(x)=-11x"-10x+22]
S=[p(x)qx)=3x"+2x+7x*+6x—-6] 6=[[p(x)=x"+6x"+9]

Ans3 =[p(x) q(x):x5+2x4— 17x3—8x2—6x—4]
Ansd=[a+b=11,ab=18], , AnsS=[a=6,b=T,ab=42]
Ans6=[P(x)=x"-2x -6x"+15x+7]

_]_[Q(x):4x4—4x3+4} 2_[Q(x)=4x2—4x} |
o R(x)=-3 Tl R(x)=4x-3

- | Qx)=x _Q(x):x3+8x2+20x+59}
Ans7 = '3_[R(x):—3x—2} '4_[ R(x)=173
5_[Q(x):2x3+6x} 6_[Q(x):x3+5}

L 7 LR(x)=18x+3 7L R(x)=20 ]
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RealOl Answers for No.10061

Ansl =[a=-3,b=-2,c=-3]

d=[p(x) +q(x)=4x2+x— 10] 2=[p(x)—q(x) =—2x2—x]
Ans2 = 3=[q(x)-p(x)=2x"+x] 4=[mp(x)-ng(x)=—-13x"=5x+15]
S=[p(x)qx)=3x"+x=20x"=5x+25] 6=[[p(x)=x"-10x>+25]

Ans3:[p(x)q(x):x6+5x5—8x4—25x3+12x2—15x+9]
Ansd=[a+b=11,ab=28], , AnsS5=[a=-5,b=3,ab=-15]
Ans6=[P(x)=x"-3x +4x*=10x-7]

_IZ[Q(X):5X3+2x2—2x—2} 2:[Q(x):5x2+2x—2}—

' R(x)=-3x+4 T R(x)=-2x"-3x+4

_ _ Q(x):x} _[Q(x)=x3+x2—3x+7}
Ans7 o _[R(x) —x+4 4= R(x)=-17
5_{Q(X)=4x3+12)ﬂ 6_[Q(x)=x3+2}

L L R(x)=36x-3 7L R(x)=-8 ]
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X

RealOl Answers for No.10071

.1=[p(x)+q(x)=4x2+5x+l]
3=[q(x)-p(x)=2x"+5x—-7]
S=[p(x)q(x)=3x"+5+9x+20x—12]

Ans2 =

Ans4d =[a+b=-7,ab=10],

N

Ans7 =

[Page 0014]

Ansl =[a=-3,b=-1,c=2]
.2=[p(x)—q(x)=—2x2—5x+7]
4=[mp(x)-nq(x)=-12x>=25x+27]
H=[[p(x)=x"+8x"+16]

Ans3 =[p(x) q(x)=x6+x5— 1x'—15+5x° - 10 x —25]

, AnsS=[a=-1,b=3,ab=-3]
Ans6=[P(x)=x'—4x -2x"+12x+1]
Q(x)=2x4—3x3—2x2—4x} 2:[Q(x):2x2—3x—2}

R(x)=-3 R(x)=-4x"-3
3_[ Q(x) = x } 4_[Q(x)=x3+4x2+14x+42}
T IR(x)=-5x+6 T R(x) =127

.|

Q(x)=4x3—4x}
R(x)=4x+3

|

Q(x)=x3+6}
R(x)=9
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RealOl Answers for No.10088

Ansl =[a=-1,b=0,c=-1]

.1:[p(x)+q(x)=4x2—4x+l] .2=[p(x)—q(x)=—2x2+4x—3]
Ans2 = .3:[q(x)—p(x):2x2—4x+3] .4:[mp(x)—nq(x):—12x2+20x— 13]
S=[p(x)qx)=3x"-4x =X’ +4x-2] G6=[[p(x)P=x"-2x"+1]
Ans3=[p(x)q(x)=x*-3x-x"+9x =11 x>+ 15x - 10]
Ansd=[a+b=1,ab=-72], , AnsS5=[a=-2,b=4,ab=-8]

Ans6=[P(x)=x'+3x -2x"—2x-5]

]:[Q(x):5x4—x3+2x} ZZ{Q(x):5x2—x}
' R(x)=0 : R(x)=2x2
Ans7 = ,3:[ Qx) =x } _4:[Q(x)=x3—2x2+6x—16}
R(x)=6x+4 R(x) =47
5:[Q(X)=3x3+3x} 6:[Q(X)=x3+8}
L R(x)=3x-4 ' R(x)=26 ]
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RealOl Answers for No.10385

Ansl =[a=4,b=2,c=0]

J=[p(x)+q(x)=5x"-x-9] 2=[p(x)-q(x)==3x"+x+1]
Ans2 = 3=[qx)-p(x)=3x"—x—1] 4=[mp(x)—nq(x)=-13x"+4x+8]
S=[p(x)q(x)=4x*—x =21 X +4x+20] G6=[[p(x)=x'-8x"+16]

Ans3 =[p(x) q(x):x5+5x4+25x2+9x—20]
Ansd=[a+b=-1,ab=-2], , AnsS=[a=1,b=6,ab=06]
Ans6=[P(x)=x'+x —4x"=2x-17]

_]:[Q(X)=x3_x2+4x+2:| 2:|:Q(x)=x2—x+4:| -
' R(x)=—x ’ R(X)=2x2—x

- _ Q<x)=X} _{Q(X)ZXS—xz—erﬂ
Ans7 3 _[R(x) 31 4= R(x)=-10
5_|:Q(X)=4x3_12x} 6_|:Q(x)=)€3+6}

L 7 L R(x)=36x-3 L R(x)=14 |
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RealOl Answers for No.10387

Ansl =[a=-3,b=-4,c=-5]

.]=[p(x)+q(x)=4x2—4x] .2=[p(x)—q(x)=—2x2+4x+ 10]
Ans2 = 3=[q(x)-p(x)=2x"-4x-10] 4=[mp(x)-nq(x)=-3x"+8x+25]
S=[p(x)q(x)=3x"—4x+10x* =20 x - 25] 6=[[p(x)=x"+10x>+25]
Ans3 =[p(x) q(x):x5—5x4+2x3+ 13x*—5x-— 10]
Ansd=[a+b=T,ab=-8], , AnsS=[a=-1,b=5,ab=-5]

Ans6=[P(x)=x"+4x=5x" =17 x +4]

]:[Q(x):3x4—3x3—3x2—2x} 2:[Q(x):3x2—3x—3}
' R(x) =4 ' R(x)=-2x*+4
AnsT = .3:[ Q(x)=x } .4:[Q(x):x3+3x2+2x+5}
R(x)=-6x+2 R(x)=7
5:[Q(x)=2x3—2)1 6:[Q(x)=x3}
L R(x)=2x+5 ) R(x)=-5 ]
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RealOl Answers for No.10914

Ansl =[a=0,b=-2,c=-1]

A= [p(x)+q(x)=3x2+x—6] .2=[p(x)—q(x)=—x2—x+4]
Ans2 = 3=[q(x)-p(x)=x"+x—4] 4=[mp(x)-nq(x)=-x*-2x+7]
S=[p(x)qx)=2x"+x =7x*—x+5] H=[[p(x)P=x"-2x"+1]

Ans3=[p(x) q(x)=x"—12x" +42x* =36 x’ =4 x* + 24 x — 24]
Ansd=[a+b=-2,ab=-24], , AnsS=[a=-2,b=3,ab=-6]
Ans6=[P(x)=x"+7x =3x" =16 x+3]

]:[Q(x):5x3_x2—3x+1} ZZ{Q(X):sz_x_ﬂ
. R(x)=x-4 . R(x)=x"+x—4
Ans7 = _3:[ Q(x) =x } '4:[Q(x)=x3+5x2+15x+49}
R(x)=-3x-3 R(x)= 151
5:[Q(x)=4x3—8)1 6:[Q(x)=x3+1}
L R(x)=16x-5 ’ R(x)=-8 ]
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RealOl Answers for No.10945

X

Ansl =[a=-2,b=1,c=-2]
d=[p(x)+q(x)=4x"—x—-2] 2=[p(x)—q(x)=—2x"+x+6]

Ans2 = .3:[q(x)—p(x):2x2—x—6] .4:[mp(x)—nq(x):—4x2+3x+22]
S=[p(x)qx)=3x"-x+2x"-2x-38] 6=[[p(x)=x'+4x"+4]
Ans3=[p(x) q(x)=x"+x —14x" = 24x" + 6 x* + 30 x + 36]
Ansd=[a+b=-12,ab=27], , AnsS=[a=5,b=4,ab=20]
Ans6=[P(x)=x"-5x +4x" - 17x-2]

_]:[Q(x):3x4—2x3—x2—1} 2:[Q(x)=3x2—2x—1} |
’ R(x)=-2 R(x)=—x-2
X)=x W)=x +4x+11x+19
Ans7 = 'SZ[R(S)(!M—J '4:[Q( ) R(x) = 40 }
5:[Q(x):3x3+9x} 6:[Q(x)=x3+5}
L R(x)=27x+2 R(x)=-10

[Page = 0019]
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RealOl Answers for No.10954

Ansl =[a=4,b=-1,c=-2]

.1=[p(x)+q(x)=4x2+5x+4] .2=[p(x)—q(x)=—2x2—5x+6]
Ans2 = 3=[q(x)-p(x)=2x"+5x-6] 4 =[mp(x) - nq(x) =—4x*— 15 x + 28]
S=[p(x)qx)=3x"+5x"+14x" +25x - 5] 6=[[p(x)] =x"+10x% +25]

Ans3=[p(x)q(x)=x*-3xX -6x"+6x —15x" —45x— 18]
Ansd=[a+b=3,ab=-40], , AnsS=[a=2,b=5,ab=10]
Ans6=[P(x)=x"-3x -2x"+8x+7]

-1_[Q(x)=x4+3x3+x2_2x+4} 2_[ Q(x)=x+3 }
T R(x)=0 o R(x):x3—2x2+4x
_ | Q) =x _Q(x)=x3+2x2—6x+17}
Ans7= '3_[R(x)=—5x+5} '4_[ R(x)=-56
5_[Q(X)=2x3—2x} 6_[Q(x)=x3+5}
i L R(x)=2x+3 7L R(x)=18
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RealOl Answers for No.10966

X

[Page = 0021]

Ansl =[a=-3,b=2,c=0]

.1:[p(x)+q(x)=4x2—4x+6] .2=[p(x)—q(x)=—2x2+4x—2]
Ans2 = 3=[q(x)-p(x)=2x"-4x+2] 4=[mp(x)-nq(x)=—-13x"+20x - 16]
S=[p(x)q(x)=3x" -4 +10x" -8 x+8] 6=[[p(x)=x"+4x" +4]

Ans3=[p(x)q(x)=x*-2x"+x"—12x =34 + 8 x +20]
Ansd =[a+b=-7T,ab=10], , AnsS=[a=2,b=5,ab=10]
Ans6=[P(x)=x"+7x —6x*-38x—7]

_1_[Q(X)=5x3+2x2+4x+4} 2_[ Q(x)=5x+2 I
T R(x)=-2x+2 o R(x):4x3+4x2—2x+2
B [ Q)=x _Q(x):x3+x2—x+4}
Ans7 = '3_[R(x)=—5x+5} .4—[ R(x)=-11
5_[Q(x):4x3—12x} 6_[Q(x):x3+4}
i L R(x)=36x-5 7L R(x)=-8 ]
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RealOl Answers for No.11154

Ansl =[a=4,b=1,c=1]

.1=[p(x)+q(x)=5x2—3x] .2=[p(x)—q(x)=—3x2+3x+4]
Ans2 = 3=[q(x)-p(x)=3x"-3x-4] 4=[mp(x)-nq(x)=-3x"+6x+14]
S=[p(x)qx)=4x"-3x +6x" - 6x-4] 6=[[p(x)=x"+4x"+4]
Ans3:[p(x)q(x):x6+4x5+5x4+2x3+5x2—2x— 15]
Ansd=[a+b=-14,ab=45], , AnsS=[a=5,b=4,ab=20]

Ans6=[P(x)=x"-3x -2x"+11x—1]

—]_[Q(x):x4+2x3+2x2—1} 2_[Q(x):x2+2x+2} |
T R(x)=0 o R(x)=—x
_ | Qx)=x } _[Q(x):x3+5x2+l6x+46}
A= 7 _[R(x) =3x+7 4= R(x) =137
5_[Q(x)=3x3+9x} 6_[Q(X)=x3+7}
L LR(x)=27x+2 7L R(x)=16 ]
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RealOl Answers for No.11191

Ansl =[a=0,b=-2,c=1]
.]=[p(x)+q(x)=4x2+2x+ 10] .2=[p(x)—q(x)=—2x2—2x]
Ans2 = 3=[q(x)-p(x)=2x"+2x] 4=[mp(x)-nq(x)=—x"—4x+15]
S=[p(x)q(x)=3x"+2x"+20x* +10x + 25] 6=[[p(x)=x"+10x>+25]
Ans3=[p(x)q(x)=x"+3x —-4x' —6x =21 X + 15x + 12]
Ansd=[a+b=-1,ab=-12], , AnsS=[a=-3,b=5,ab=-15]
Ans6=[P(x)=x'+2x —x" +4x+5]

]:[Q(x):3x3_2x2_4x+2} 2:{Q(x):3x2_2x—4:|
' R(x)=4x+3 T R(x) =27 +4x+3
Ans7 — .3:[ Q(x)=x } _4:[Q(x)=x3+7x2+17x+32}
R(x)=7x+1 R(x)=63
5:[Q(x)=3x3+3x} 6:[Q(x):x3+4}
L R(x)=3x-2 ' R(x)=13 il
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RealOl Answers for No.11309

Ansl =[a=0,b=0,c=0]

.1=[p(x)+q(x)=3x2—4x+4] .2=[p(x)—q(x)=—x2+4x—2]
Ans2 = 3=[q(x)-p(x)=x’—4x+2] 4=[mp(x)-nq(x)=-5x"+16x-9]
S=[p(x)qx)=2x"-4x+5x"—4x+3] G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x)q(x)=x"+6x"+4x = 11x"+12x-20]
Ansd=[a+b=-10,ab=9], , AnsS=[a=-1,b=4,ab=-4]
Ans6=[P(x)=x"+6x" +3x*+23x—-2]

_]:[Q(x)=2x4+3x3+3x2—3x+1} 2:[Q(x)=2x2+3x+3]
' R(x)=-3 ' R(x)=-3x"+x-3
_ | Qx)=x _Q(x)=x3+3x—9}
Ans7 = '3_[R(x)=6x+4} '4_[ R(x) =14
5_[Q(x)=3x3—9)1 6_[Q(X)=x3+1}
L L R(x)=27x-5 7L R(x)=-4 |
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RealOl Answers for No.12037

Ansl =[a=0,b=-1,c=-3]

.1=[p(x)+q(x)=3x2—4x—2] .2=[p(x)—q(x)=—x2+4x]
Ans2 = 3=[q(x)-p(x)=x"—4x] 4=[mp(x)-nq(x)=-2x"+12x-1]
S=[p(x)qx)=2x"-4x =3 +4x+1] G6=[[p(x)P=x"-2x"+1]

Ans3=[p(x)q(x)=x"+6x" +4x° +30x" —48 x + 12]
Ansd=[a+b=3,ab=-18], , AnsS=[a=-7,b=1,ab=-7]

Ans6=[P(x)=x"—6x=3x"+21 x+ 7]
_.]:[Q(x):x4—2x2+2} '2:[ Q) =x }
R(x)=0 R(x)=-2x"+2x

Ans7 = .3=[ Qlx) =x } .4:{Q(x):x3+4}

R(x)=4x+4 R(x)=-11
5_[Q(X)=4x3—12x} 6_{Q(x):x3+l}
L7 L R(x)=36x+3 7L Rx)=0 ] |
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X

RealOl Answers for No.12454

Ansl =[a=2,b=1,c=-2]

.1=[p(x)+q(x)=4x2—4x+l]
3=[q(x)-p(x)=2x"—4x+3]
S=[p(x)qx)=3x"-4x =X’ +4x-2]

Ans2 =

G6=[[p(x)P=x"-2x"+

Ans3=[p(x)q(x)=x’+4x = 7x* =16 X’ +10x* - 8x + 6]

Ansd=[a+b=-T,ab=06],

, AnsS=[a=-7,b=3,ab=-21]

Ans6=[P(x)=x"+2x —4x*-5x-17]

R(x)=-3

Ans7 = Q(x) =x }

'3:[R(x)=2x—5

5_[Q(x)=3x3+3x
L R(x)=3x-5

[Page = 0026]

_IZ{Q(x):x4—x3—4x2—3x—l

|

|

|
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_[ Q(x)zxz—x—4 }
- R(x)=—3x2—x—3
Qx)=x"+4x"+6x+15

R(x) =27
6_[Q(x) =x + 2}
L R(x)=-9

.2=[p(x)—q(x)=—2x2+4x—3]
4=[mp(x)-nq(x)=-11x>+20x - 14]

1]

|
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RealOl Answers for No.12483

X

[Page = 0027]

Ans]:[a:-4,b:_4,c:-4]

.1=[p(x)+q(x)=4x2+4x+ 1] .2=[p(x)—q(x)=—2x2—4x+9]
Ans2 = 3=[q(x)-p(x)=2x"+4x-9] 4=[mp(x)—-nq(x)=-4x"—12x+37]
S=[p(x)qx)=3x"+4x" + 1157 +20x - 20] 6=[[p(x) P =x"+10x"+25]
Ans3 =[p(x) q(x)=x’+5x =3x"=30x’ —22x* =20 x - 12]
Ansd=[a+b=T7,ab=10], , AnsS=[a=-4,b=1,ab=-4]

Ans6=[P(x)=x"+7x =3x = 17x+1]

_1_[Q(x):3x4—4x3—3x+4} 2_[ Q(x)=3x—4 }
T R(x)=4 o R(x):—3x2+4x+4
_ _ Q(x)=x} _[Q(x):x3+2x2—6x+14}
Ans7= ’3_[R(X)=x—6 4= R(x)=-43
5_[Q(x)=3x3+9x} 6_[Q(x):x3}
i LR(x)=27x+2 7 LR(x)=5 ]
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X

RealOl Answers for No.12557

.]=[p(x)+q(x)=4x2—x+ 1]
3=[q(x)-p(x)=2x"—x-17]
S=[px)qx)=3x"-x+9x" - 4x-12]

Ans2 =

Ansl =[a=2,b=-5,c=2]

Ans3=[p(x)q(x)=x’—4xX +2x* =3 +15x° - 18 x+ 6]

Ans4d =[a+b=8,ab=15],

Ans7 =

[Page 0028]

']:[Q(x)=2x4—2x3+2x2+2} _2:[()

, AnsS=[a=-2,b=5,ab=-10]
Ans6=[P(x)=x"—7x +5x*=32x—1]

(x)=2x"-2x+2

R(x)=-2 R(x)=2x-2

_ Q(x)=x _ Q(x)zx?
’3_[RUJ=—2x+4} 4_[RUJ=1
5_[Q(x)=3x3+6x} 6_[Q(x):x3+2}
LR(x)=12x+2 7L R(x)=0

2=[p(x)—q(x)=-2x"
4=[mp(x)-nq(x)=-12x>+5x+27]
G6=[[p(x)P=x"+8x"+16]

+x+7]

}_
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X

RealOl Answers for No.12637

1 =[p(x)+q(x)=5x"=3x+4]
3=[q(x)-p(x)=3x"-3x—-6]
S=[p(x)qx)=4x"-3x+19x - 15x-5]

Ans2 =

Ansl =[a=3,b=4,c=-3]
.2=[p(x)—q(x)=—3x2+3x+6]
4=[mp(x)-nq(x)=-18x>+15x + 15]
6=[[p(x)=x"+10x>+25]

Ans3=[p(x)q(x)=x"—4x - 18x*+36x - 2x* —4x+12]

Ans4d=[a+b=-7,ab=-18],

Ans7 =

[Page 0029]

]:[Q(x)=4x3+4x+l

, AnsS5=[a=3,b=2,ab=06]
Ans6=[P(x)=x4+7x3—x2—4x—5]

} {Q(x)=4x2+4
R(x)=x2—x+1

R(x)=—x+1

3:[ Q(x) =x } 4:[Q(x)=x3—x+6}

) R(x)=-6x-2 ' R(x)=-11

5:[Q(x)=2x3—4x} 6:[Q(X)=x3+6}
R(x)=8x-5 R(x)=23 ]
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RealOl Answers for No.12689

Ansl =[a=1,b=-2,c=-4]
.1=[p(x)+q(x)=5x2+5x+6] .2=[p(x)—q(x)=—3x2—5x—2]
3=[q(x)-p(x)=3x"+5x+2] 4=[mp(x)-nq(x)=-7x"—15x-2]

S=[p(x)q(x)=4x" +5 +12x7 + 10 x + 8] 6=[[p(x)] =x"+4x"+4]
Ans3 =[p(x) q(x):x6—2x5+2x4—3x3+x2+4x— 10]
Ansd=[a+b=12,ab=27], , AnsS5=[a=-5,b=1,ab=-5]
Ans6=[P(x)=x"-3x +4x - 9x-7]

_]:[Q(x):x4_x3+3x2+3x+4:| 2_[Q(x):x2_x+3:| -
' R(x)=0 “TR(x) =3 +4x

Ans2 =

X

Ans7 — .3:[ Q(x)=x } .4:[Q(x):x3+8x2+22x+70}
R(x)=—-6x-6 R(x) =212
5_[Q(x)=3x3+3x} 6_[Q(x)=x3+2}

i L R(x)=3x+4 L R(x)=1 ]

[Page = 0030]
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RealOl Answers for No.13349

Ansl =[a=-4,b=2,c=3]

d=[p(x)+q(x)=5x"—dx-7] 2=[p(x)—q(x)==3x"+4x+3]
Ans2 = 3=[q(x)-p(x)=3x"—4x-3] 4=[mp(x)-nq(x)=-11x"+16x+10]
S=[p(x)qx)=4x"—4x — 135" +8x+10] 6=[[p(x)P=x"—4x*+4]

Ans3:[p(x)q(x)=x6+3x5—3x4—2x3—x2+21x— 15]
Ansd=[a+b=12,ab=35], , AnsS=[a=2,b=4,ab=28]
Ans6=[P(x)=x"—7x +4x*-23x—1]

_]_[Q(x)=2x4—4x3—4x2—3x—4} 2_[ Q(x)=2x-4 }

T R(x)=-2 o R(x):—4x3—3x2—4x—2

_ _ Q(X)zx} _[Q(x)=x3+7x2+18x+36}
Aans7 = 7 ‘[R(x>=—x+6 #= R(x) =77
5_[Q(x)=4x3—4x} 6_[Q(x):x3+2}

L L R(x)=4x+3 7L R(x)=-7 ]
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RealOl Answers for No.13519

Ansl =[a=-1,b=-3,c=4]
.1=[p(x)+q(x)=4x2+4x+3] .2=[p(x)—q(x)=—2x2—4x+7]
Ans2 = 3=[q(x)—p(x)=2x"+4x—-7] 4=[mp(x)—nq(x)=—-x"—8x+29]
S=p(x)q(x)=3x"+4x° + 137 +20x-10]  .6=[[p(x)]’=x"+10x"+25]
Ans3=[p(x) q(x)=x"-9x* +26x =27 x> + 15 x — 18]
Ansd=[a+b=-3,ab=-10], , AnsS=[a=2,b=1,ab=2]
Ans6=[P(x)=x'+2x -7x = 8x+7]

]:[Q(x):2x4+2x3—x2+3x} 2:{Q(x):2x2+2x—1}
' R(x)=1 ’ R(x)=3x>+1
Ans7 — .3:[ Q(x)=x } '4:[Q(x):x3—2x2+10x—30}
R(x)=6x+6 R(x) =091
5:[Q(x)=3x3—3x} 6:[Q(x)=x3+ 1}
L R(x)=3x+2 ' R(x)=-7 )
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RealOl Answers for No.14276

Ansl =[la=-4,b=4,c=-2]

v =[p(x)+q(x)=4x2+x—3] 2= [p(x)—q(x)=—2x2—x+5]
Ans2=|  3=[q(x)-p(x)=2x"+x-5]  4=[mp(x)-nq(x)=-9x"—4x+19]
S=[p(x)qx)=3x"+x —x* +x—4] H=[[p(x)P=x"+2x"+1]

Ans3:[p(x)q(x):x5—5x4+7x3—13x2+2x+8]
Ansd=[a+b=-16,ab=63], , AnsS=[a=-4,b=1,ab=-4]
Ans6=[P(x)=x"+4x =3x* - Tx-3]

]:[Q(x):5x3+3x2+x—3} 2:|:Q(X)=5x2+3x+1}
' R(x)=0 ' R(x)=-3x
Ans7 = ,3:[ Q(x)=x } '4:[Q(x)=x3+3x2+7x+14}
R(x)=4x-5 R(x) =31
5::PQ(X):H4X3+-12XJ 6=:PQ(X):;€}
L R(x)=36x+5 ' R(x)=3 |
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RealOl Answers for No.14331
Ansl =[a=3,b=4,c=3]

.2=[p(x)—q(x)=—2x2+4x—5]
4=[mp(x)-nq(x)=-3x"+8x—14]
G6=[[p(x)=x"-8x"+16]

d=[p(x)+q(x)=4x"—4x-3]

Ans2 = 3=[q(x)—p(x)=2x"—4x+5]
S=[p(x)q(x)=3x"—4x — 11X+ 16 x — 4]
Ans3 =[p(x) q(x)=x"-2x"=27x*+18 X +4x* + 16 x — 12]

Ansd=[a+b=-T,ab=12], , AnsS5=[a=2,b=3,ab=06]

Ans6=[P(x)=x"-2x -5x"+16x+7]

]:[Q(x):3x4—x3+4x} ZZ{Q(x):3x2—x}
’ R(x)=2 “ TR =42 42
Ans7 = :|: Qx) =x } '4:[Q(x)=x3+4x2+10x+32}
R(x)=-5x-7 R(x) =98
5:[Q(x)=2x3—4)1 6:[Q(X)=x3+7}
L R(x)=8x+5 ' R(x)=17 |

DG NI ISRV Y D19:9:0:0:0:0:0:0.0.9:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0:0.0.0.0.0.0.0.0.:0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9:0.0:0:0:0:9:9.0.9.0:0.0:0:0:0:9:9:9:9.9.9.9.9.9.9.9.9:9.9.9.9.9.9.0.4
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RealOl Answers for No.14360

Ansl =[a=-1,b=-2,c=13]

.]=[p(x)+q(x)=3x2—x—7] .2=[p(x)—q(x)=—x2+x+3]

X

Ans2 = 3=[q(x)—p(x)=x"—x—-3] 4=[mp(x)—nq(x)==7x"+5x+19]
S=[p(x)qx)=2x"-x"-9x"+2x+10] H=[[p(x)=x"—4x"+4]
Ans3=[p(x) q(x)=x+4x* +9xX +20x* +2x - 12]
Ansd=[a+b=-5,ab=-24], , AnsS=[a=-6,b=1,ab=-6]
Ans6=[P(x)=x4—x3+5x2—2x+7]
—]:[Q(x)=5x4—x3—2x2+2x+2} :{Q(x):5x2—x—2}

' R(x)=-3 R(x)=2x"+2x-3
AnsT = .3:[ Q(x)=x } .4:{Q(x):x3+6x2+18x+55}
R(x)=-5x+6 R(x) =167
5_[Q(x)=2x3+2x} 6_[Q(x)=x3+3}

L L R(x)=2x-3 L R(x)=-8 ]

[Page 0035]
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RealOl Answers for No.14380

Ans2 =

Ansl =[la=-4,b=-3,c=0]
.1=[p(x)+q(x)=3x2+4x+7]

3=[q(x)-p(x)=x’+4x—-1]

S=[p(x)q(x)=2x'+4x +11 x>+ 16 x + 12]
Ans3 =[p(x) q(x):x6—7x5+7x4+ 15x3+5x2—20x—25]

Ansd=[a+b=-2,ab=-24],

Ans7 =

[Page 0036]

_1_[Q(x)=3x3+4x2+4x
T R(x)=—4x-2

3= [R(S )(i)6zxx— 4}

5_[Q(x):3x3—3x}
L 7 L R(x)=3x+5

.2=[p(x)—q(x)=—x2—4x+ 1]
4=[mp(x)-nq(x)=-7x"—20x—3]
G6=[[p(x)=x"+8x"+16]

, AnsS=[a=-6,b=3,ab=-18]
Ans6=[P(x)=x"—4x =5 +24x+7]

|

»
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ZZ[Q(X):3x2+4x+4}
R(x)=-4x-2
Q(x):x3+8x2+27x+84}
R(x) =253
6:[Q(x):x3+6}
' R(x)=4 J
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RealOl Answers for No.14393

Ansl =[a=2,b=2,c=-1]
.1=[p(x)+q(x)=4x2+3x+4] .2=[p(x)—q(x)=—2x2—3x+2]
Ans2 = 3=[q(x)-p(x)=2x"+3x-2] 4=[mp(x)-nq(x)=-7x"—9x+3]
S=[p(x)q(x)=3x"+3x+10x> +9x+3] 6=[[p(x)P=x"+6x"+9]
Ans3=[p(x)q(x)=x"—6xX +3x" —4x +28x* =36 x+ 12]
Ansd=[a+b=15,ab=54], , AnsS=[a=2,b=4,ab=28]
Ans6=[P(x)=x"+2x -6x"—6x—-5]

]:{Q(x):3x3+2x2—2x+4} ZZ{Q(x):3x2+2x—2}
’ R(x)=—4x-2 T R(x)=4x*—4x-2
AnsT = .3:[ Q(x)=x } .4:[Q(x):x3+2x2—9x+26}
R(x)=x+2 R(x)=-74
5:[Q(x)=2x3+6x} 6:[Q(x)=x3+7}
i R(x)=18x+3 ' R(x)=18 i
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RealOl Answers for No.14418

Ansl =[a=4,b=4,c=0]
I=[p(x)+q(x)=4x"—4x] 2=[p(x)-q(x)=—2x"+4x-2]
3=[q(x)-p(x)=2x"—4x+2] 4=[mp(x)—nq(x)=-13x"+20x—7]
S=[px)qx)=3x"-4x —2x"+4x-1] G6=[[p(x)P=x"-2x"+1]
Ans3:[p(x)q(x):xs+2x4+5x3+2x2+2x—6]
Ansd=[a+b=14,ab=45], , AnsS=[a=1,b=T,ab="T]
Ans6=[P(x)=x"+3x —6x - 15x+1]

Ans2 =

X

N

Qx)=3x-4x"-3x+1
R(x)=-3x+4

} 2_{Q(x):3x2—4x—3
o R(x)=x2—3x+4

}_

Ans7 = .3:[ Q(x)=x } .4:[Q(x):x3+2x2+4}
R(x)=—6x+4 R(x)=-12
5_[Q(x)=2x3+4)1 6_[Q(x)=x3+4}

. L R(x)=8x-5 L Rx)=-1 ]
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RealOl Answers for No.14419

Ansl =[la=-4,b=-4,c=0]

d=[p(x)+q(x)=4x"-3x-6] 2=[p(x)-q(x)=—2x"+3x-4]
Ans2 = 3=[q(x)—p(x)=2x"—3x+4] 4=[mp(x)-nq(x)=-7x"+12x—-21]
S=[p(x)q(x)=3x"-3x" - 16"+ 15x+5] 6=[[p(x)]=x"~10x" +25]

Ans3=[p(x)q(x)=x*-2x"=x'+10x° = 14x* — 12 x + 24]
Ansd=[a+b=5,ab=6], , AnsS=[a=2,b=4,ab=28]
Ans6=[P(x)=x"—7x =5 +41x—1]

]:[Q(x):3x4—x3—3x2—2x—1} 2:{Q(x)=3x2—x—3}
' R(x)=1 T [R(x)==2x"—x+1
Ans7 — 3:[ Q(x)=x } 4:[Q(x)=x3+4x2+5x+6}
’ R(x)=4x+3 ’ R(x)=13
5:[Q(x)=2x3+4x} 6:[Q(x)=x3+6}
L R(x)=8x+3 ) R(x)=23 ]
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